FeRADILT [FR265E ]
HeEaE S| 500326 [err e | 1A0R 1 ER &6 AT 1569% 102
& | REEEEE(ED)
BINEHI| RERALA MRHIRENES |REFE| BOSNEE
BUEE | 1R B ERA) CELRER [MERS| 12 AXAME
8 | |(E T LIS BHEROMMISHIE 31, REEOROFABELL
|5 |0 A TEREFAEORRICIBEREOREE LA EMLI NS, §
e L [BEORERENBETHEBDIS,
LEEE Bk & his % F_EEEE EEIE (NEEH) (=)
+ih [Sb@EiE 199400 M [FREE| it MR - R —
Enawn|Ee s 8E (Ammid) -t E 1R - FORS
Fr3| AR Ea mzeAn| IAS3E 48 18 |munsn 68,048,000 F
2Y |mErE 701.30 mi k] i |mims| IAmER%E
HEBY (EEER) | R84 | miEws (= ER) | TR 164E
o|PEA| HiEFE REEY BIERE A (Bid)
2|y st TRRITEE EE ML 6,171,900 F
%J:E?é TR2IFE B M LRI 6,216,000 [
B o%
= 0m
0 &

YR - SRR AL X T BE

EEEELOBER

E&TRBMS3EICEESNI-LOT, BEICIIMAFRIHKEENT-HMETHY . BEIZi A

FEEZTHBREZMNEATHIDOTRIANDETHS,

Bk S BAFICEITHE

# EOFIFI X T HFHFREZBI

FOFRE T NESIE

FI A RER 7:00~19:00 hetel |mme.®Be.2808~1838| BEEAAE EE
SROMGEEEEOSS) | B | £ A A B £ A B

EEE EEEE|

It AT

| #BRE |[REGILAEUEEIHEOREIAS(REORE

g EHBA| 110 A] %8 | 000 A[mEmma| ooo A[#mzma] ooo A] &&t [ 110 A
2 RoNREERITR BROEE FEISRIRE
| |[HEeEgs 4541718 | [BE-Bxzgs 0
= SeEIKE 2,409,728 EEEBEEEH
ga)z REFABREEH 282,220 ZOHDEE
= BEH 21,525
) BEE 380,426 [@/Mg 0
iﬁ“ ZOMORE 1447819 BRRZIA
w| |[AEE 7,961,800 | ¥ |EAMZIRA 15,276,000
- BE % 7,961,800 | 3= |[ZDftIRA
EEHBE 0
@hat 12,503,518 |ERIUXA &5 15,276,000
BEH(@D+@)—Q -2,772,482 A R—AH=-YDIRK -16.50 M
- ) EHERCBEINE) H263E4% (FE4)
S 1z H24 H25 H26 ERATEES | BRE=E(%)
%iﬁlﬁﬂ)&'ﬁﬁ%& A 1,279 1,156 1,022 1320  77.42%
5%
?
X [EbmrzAT 50k SRR (=8 58 Mok

HFEC
=IH




HEHDKR

e R BYAH A me | KEM | Rgspg | DA :;mm!ms

soosz7| REERA e pagam  (REOMAT | jo4ant |(mAsazam 1m| 760000M | FE | FE

sooszs| FHEET | mgzmimsg BEEES (B0 oreatl| sooni |mAsi 4R 18| 244000 | RE | FE

so0aze| REERA | pgunee i ERAR ?F%};iﬁ?r};?ﬁ 195t | ¥R 1% oA10m| 203550 | FE | FE
b £ R

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - 0 TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3h b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

- b B - TR

-3 b B - 3t TR

- _E B - 0 TR

-3 b B - 3t TR

- b - 1 T RS




